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UNDERSTANDING DIVISION 4 

Complete two division sentences for each array. The first one is done for you. 

1) 

• • • • 
• • • • 

• • • • 
 

12 divided into groups 
of 3 is 4 groups. 

 
12 ÷ 3 = 4 

12 divided into groups 
of 4 is 3 groups. 

 
12 ÷ 4 = 3 

    

2) 
• • • • • 

• • • • • 
 

___ divided into groups 
of __ is __ groups. 

 
___ ÷ ___ = ___ 

___ divided into groups 
of __ is __ groups. 

 
___ ÷ ___ = ___ 

    

3) 

• • • • • 

• • • • • 

• • • • • 
 

___ divided into groups 
of __ is __ groups. 

 
___ ÷ ___ = ___ 

___ divided into groups 
of __ is __ groups. 

 
___ ÷ ___ = ___ 

    

4) 

• • 

• • 

• • 

• • 
 

___ divided into groups 
of __ is __ groups. 

 
___ ÷ ___ = ___ 

___ divided into groups 
of __ is __ groups. 

 
___ ÷ ___ = ___ 

    

5) 

• • • 

• • • 

• • • 
 

___ divided into groups 
of __ is __ groups. 

 
___ ÷ ___ = ___ 

___ divided into groups 
of __ is __ groups. 

 
___ ÷ ___ = ___ 

    

6) 
• • • • • • 

• • • • • • 
 

___ divided into groups 
of __ is __ groups. 

 
___ ÷ ___ = ___ 

___ divided into groups 
of __ is __ groups. 

 
___ ÷ ___ = ___ 
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 UNDERSTANDING DIVISION 4 ANSWERS 

1) 

• • • • 

• • • • 

• • • • 
 

12 divided into groups 
of 3 is 4 groups. 

 
12 ÷ 3 = 4 

12 divided into groups 
of 4 is 3 groups. 

 
12 ÷ 4 = 3 

    

2) 
• • • • • 

• • • • • 
 

10 divided into groups 
of 2 is 5 groups 

 
10 ÷ 2 = 5 

10 divided into groups 
of 5 is 2 groups 

 
10 ÷ 5 = 2 

    

3) 

• • • • • 

• • • • • 

• • • • • 
 

15 divided into groups 
of 3 is 5 groups 

 
15 ÷ 3 = 5 

15 divided into groups 
of 5 is 3 groups 

 
15 ÷ 5 = 3 

    

4) 

• • 

• • 

• • 

• • 
 

8 divided into groups of 
4 is 2 groups 

 
8 ÷ 4 = 2 

8 divided into groups 
of 2 is 4 groups 

 
8 ÷ 2 = 4 

    

5) 

• • • 

• • • 

• • • 
 

9 divided into groups of 
3 is 3 groups 

 
9 ÷ 3 = 3 

9 divided into groups 
of 3 is 3 groups 

 
9 ÷ 3 = 3 

    

6) 
• • • • • • 

• • • • • • 
 

12 divided into groups 
of 2 is 6 groups 

 
12 ÷ 2 = 6 

12 divided into groups 
of 6 is 2 groups 

 
12 ÷ 6 = 2 

 


